a(0 z) (um) tor PV Ratio a(0y) (um) for PV Ratio (0 X) (um) tor PV

Ratio

10?

0 15 20
Vertex z (cm)

G(0 X) (um)

Ratio

=
o
W

10°E

1.

1.05

s

0.95

°
o

|
NI
o

|
=
[é)]

a(0 x) tor merged vertices (um)

Ratio

10°|

iy

0.9

0.8

0 =15 -10

10 15 20
Vertex z (cm)

UéIVI MKET_TToriginal

M_mKEit_TTNEWHS ALLITERS

10?

10

2015 -10 =5 0 5 10 15 20
Vertex z (cm)

10%|

10|

0.9 . L :
0551516 5 0 5 10 15 20

Vertex z (cm)

Ratio

0(0 z) (M)

Ratio

10?

1.

10 15 20
Vertex z (cm)

10°

10?

N v S
-+

-+

10 15 20
Vertex z (cm)

M_mkFit_ TTNEWHSMS_ALLITERS
— 103
o 10
2
s F 10°F
o I [
o k... -

0(0 y) tor merged vertices (Um)

Ratio

0(0 z) tor merged vertices (Um)

Ratio

10?

10°E

10%

1.z

I
HN

0.9°

5 0 5 10 15 20
Vertex z (cm)



	Contents
	Page 1


